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L.L.5 How can I make sense of it?

Making Sense of a Logie Problem

An important skill that you will develop
twoughout Lhis course is making sense of a
problem or siation. Youn will be aghed o think
and talk hrough chalfenging problems umil they
make sense (o you. You will know that an idea
makes sense when you understand it so well that
you can explain it 1o others and answer their
questions about it. In this lesson, you will make
sense of a challenging fogic problem and work
with your team to explain your ideas.

TRAIL MIX

Rowena and Polly were making trail mix, Rowena
Rowena had 4 cups of raising, and Polly had

4 eups of peanuts. Polly poured cxactly one

cup of her peanuts indo Rowena's misins and

stirred them up, as shown in e diagram at

right. Then Rowena poured exactly one cup

of her new peanut-and raisin mix back inio

Polly’s peanuts.

Did Rowena get more of Polly's peanuts, or
did Polly get more of Rowena’s raisins?
Yaour Yask:
s First, decide by yourself what you think the answer (o this question is,
Uhen share your ideas with your feam.
Together make a gness (also called a conjecture) ahont which girl o1 more
of the ather’s snack ilem.

Explain your conjecture with words, numbers and symbols, diagrams,
models, or anything else you think will convinge annther student.




Rowena and Polly still cannot agree about who has more of the other’s item.
Rowena is still sure that Pally got more of her raisins. Polly is sure that
Rowena got more of her peanuts. To make sense of what happened, they
decided to try a simpler experiment.

Rowena got a cup of 10 red beans, and Polly got a cup of 10 while beans. Polly
gave 3 white beans to Rowena, and Rowena stirred them into her red ones.
Then she closed her eyes and chose 3 beans Trom her mixture at randon (o give
back to Polly. The girls then examined cach cup.

a. Try their cxperiment a few times with a pariner. What happens each time?
Work with your team to find a way 1o explain why vour results make sense.

Would you have gotten similar results if you had exchanged 5 beans? 6
beans? 20 beans? Be ready to explain your thinking.

With your team, consider whether your ideas about Rowena's raisins and
Polly’s peanuts have changed. If so, wrile and explain your new
conjecture. I not, explain why you still agree with your original
conjeclure. Be sure 1o include anvthing vou think will he convincing as
you wrile down your ideas. Be prepared to share your ideas with the elass.
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1-38. At the farmers” market, two pounds of peaches cost $4.20. How much will five
pounds cost? Show all of your work or explain your reasoning.

W Hint:

Think about what you did in Step 1. Can this help you find how much 5 pounds cost?

By muitiplying the cost of one pound by five, ($2.10)(5) = $10.50
we will find the cost of five pounds.

The cost of five pounds of peaches will be $10.50.




Here are some more to fry.
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FROBLEMS USING DIAGRAMS

A variery nf pereent pmblems described
in words invnlve the relarionship
between “Uke percent,” “lie pant” and f
“the whole.” When thie it represented —
nsmg 5 numher line, salunans may he a
found using logical reasoning or partaf 100%
equivalent fractions (proportions).
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For additional information, see the Math Notes box in Lesson 5.1.2 of the Core Conneciions.
Conurse 2 Xt

Example 1

Sam’s Discount Tires advertises a tire that originally cost $50 on sale for $35.

‘What iz the. parcant diceoumt? part f the whie K

TR rs15off T
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A possible diagram for this
silumlion 15 shown al u'#.ll_' '\_ 24—t

partofioos =

In this simation it is easy to reason that since the percent number total {100%) is twice the cost
nlm:lhernun](m),thepemum;rsavedlszww:MWmnnmhernmmuma
30% discount. The problem could also be solved using a proportion 2> 0=

Example 2

Martin received 808 votes for mayor of Smallville. IFthis wos 32% of the totol votes cost, how
many peaple voted for mayar of Smallville?
-—

the w P
A pussible diagram Lo tus pertal !““Q-.___‘,f_ ¢ towl vetes —%
sitnation s chown at Aght- I‘_W! vetas -‘. .

Wil

o — 100%
pard of 0%
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If using the Giant One, the multiplier is & = 3125:;: . 22 - 2R
Amhﬂufmfmhﬂjsdfmluumuﬁ

Note that the proportion in this problem could also be solved using cross-multiplication.
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